ANSWERS - VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS

Chapter 2, Bar Subject to Extension

problem 2.29, page 62

Remarks: See 82.2 pages 18 till 24

ANsSwers:

a. £€=0,48 %o (equal for all bars)
oV =5 =60 N/mm?
o(® =96 N/mm?

b. NO =N® =15 kN
N®@ =24 kN

c. G=54kN

Explanation:

0.96 mm
c=

= =0,48x107°
2000 mm

oV =5® =(0,48x107%) x (125x10° N/mm?) = 60 N/mm?
o® =(0,48x107%) x (200x10° N/mm?) =96 N/mm?

b. N® =N® = (60 N/mm?)(250 mm?) =15 kN
N® = (96 N/mm?)(250 mm?) = 24 kN

c. G=NON® L NO

Last update: 11-10-07



